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Adolf Hitler
• Hitler ignored the Treaty of 

Versailles. 

• Hitler created the Nuremberg 
laws. 

• The Nuremberg laws caused 
Jews, Homosexuals, Gypsies, 
Communists and other 
"Undesirables" were forced to 
wear identification badges. 



Nazi Party

• The Nazi Party basically 
controlled everything ; Police 
Forces, Politics, Local 
Government,.etc  

• This caused the Nazi Party to 
gain too much power. This 
power went to their heads which 
in the end caused them to want 
more and more power.



Treaty of Versailles

• Lloyd George of England, Orlando of Italy, 
Clemenceau of France, Woodrow Wilson 
of the U.S. met to discuss the punishment 
of Germany. 

• Wilson wanted peace but Clemenceau 
wanted revenge, so George was torn 
between the two. 

• The German people were unhappy with 
the treaty because they expected the treaty 
to be based off of Wilson's 14 Points. 

• Adolf Hitler rose to power because people 
were dissatisfied with the government and 
wanted to eliminate the treaty.



Hitler's Actions
• France and Britain believed 

Hitler's actions were 
understandable and reasonable. 

• Hitler wasn't a man of his word. 

• Chamberlain believed putting a 
military action against Hitler if 
he tried to invade Poland would 
end Hitler's aggressiveness.


